7000 GeV pp Soft QCD

a0 = T T T N L L R L B BN B o

> o : n

8 - Relative P, (track jets) _

— 2 | ]

o 107 E =

- — _

Q. L _]

™) - —
~—

Z — —

j=3 10 — }—:l*’~' )

O = ’ R =

. — — v . _

£ £ . .

N ¥ .‘1‘ |

h

1e- kX =

— -:, -

- ", =

B L |

. m ATLAS g 1

10 " £ - o-- Pythia 6.428 390 R =

~ --©-- Pythia 6.428 391 L =

- - +- Pythia 6.428 392 \& 7

" --+-- Pythia 6.428 396 Se

10" 5= . %~ Pythia 6.428 397 \\; E

—  --¥-- Pythia 6.428 398 -

-3 |

A = I S S I =

2 =

0 — N

< I —]

-l - —
|_

< 1 B 7
o

o - 8 s

= L ¥ _

m — —

0.5 — |

| 1 1 1 1 | 1 " 1 " 1 " 1 " | " 1 " 1 " 1 " 1

Charged Particle |6Tel [GeV]

Rivet 3.1.10, = 3.1M events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


